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Who propound the innovation
theory of profit ?

(1) J.B. Clark

(2) F.H. Knight

(3) J.A. Schumpeter
(4) Alfred Marshall

A change in prices affects
(1) Gross interest

(2) Net interest
(3) Real rate of interest

(4) Money rate of interest

Net value-added is equal to
(1) Payments accruing to factors

of production.

(2) Compensation to employees.

(8) Wages plus rent plus
interest.

(4) Value of output minus
depreciation.

The net value added method of
measuring - national income is
also known as

(1) Census of occupation method
(2) Productiqn method

(3) Expenditure census method
(4) All of the above

y— Y means :

(1) Average propensity to
consume. ;

(2) Marginal propensity to
consume.

(8) Average propensity to save.
(4) Marginal propensity to save.
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10.

The size of marginal propensity
to consume is

(1) >1

@ 1

3 0

4) >0<1

Which of the following is not real
investment ?

(1) New capital good

(2) Construction work

(8) Share capital of companies
(4) Stock of goods

Quasi Rent concept introduced by
(1) Ricardo

(2) Marshall

(3) Stonier and Hauge

.(4) Silverman

Which is not a determinant of
economic growth ?

(1) Natural resources

(2) Capital output ratio

(3) Monetary resources

(4) Population

Harrod’s model of economic
growth does not consider

(1) A steady rate of growth

(2) A minimum rate of growth
(8) Warranted rate of growth

(4) The natural rate of growth

The concept of poverty in India is
(1) Minimum level of living

(2) Maximum level of living
(3) Reasonable level of living
(4) Luxury level of living
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Who is responsible for poverty

estimation in India ?

(1) Ministry of Rural Development

(2) NITI Aayog

(3) Ministry of Human Resource
Development

(4) N.S.0.

“Persons who do not get sufficient
work, according to their ability
and capacity and hence their
contribution to the production is
much lesser than their capacity
and ability.” Such type of
unemployment is known as

(1) Seasonal unemployment

(2) Structural unemployment

(3) Open unemployment

‘(4) Under employment

When was NABARD established ?
(1) July, 1982
(2) dJuly, 1983
(3) July, 1981
(4) July, 1980

In India unemployment in rural
sector is known as

(1) Cyclical unemployment

(2) Frictional unemployment
(3) Disguised unemployment
(4) Educational unemployment

When RLEGP was launched ?
(1) 15tk August, 1982
(2) 15tk August, 1983
(8) 15th August, 1984
(4) 15tk August, 1985
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18.
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20.

The First Stage of Industrial
Development is related to

(1) Primary products

(2) Secondary products

(8) Tertiary products

(4) Final products

The ministry of Commerce and
Industry has notified the National
manufacturing policy on

(1) 8tk December, 2010

(2) 4tk November, 2011
(3) 4th November, 2010
(4) 8th December, 2011

What was the rate of agriculture
and allied areas development in
the Economic Survey 2020-21 of
India ? '

(1) 3.5%

(2) 3.3%

" (3) 3.4%

4) 3.6%

What was the share of
agriculture in G.D.P. in the
Economic Survey 2020-21 of
India ?

(1) 19.7%

(2) 19.6%

8) 19.8%

4) 19.9%

Which Committee was
recommended for ‘Area Approach’
to Nationalized Banks ?

(1) Prof. D.R. Gadgil
(2) Nariman

(3) Khusro

(4) M.C. Bhandari
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When the First Industrial Policy
was declared by the Government
of India ?

(1) 5tk April, 1948

(2) 6tk April, 1948

(3) Ttk April, 1948

(4) 8tk April, 1948

Which of the following is not
engaged in the field of

- Agricultural Marketing at central

level in India ?
(1) NCDC

(2) NAFED
(3) NCTGFL
4) CWC

Which sector is not included in
PPP mode in India ?

(1) Energy
(2) Roads

(3) Education
(4) Ports

What are the parameters of the
stage of Economic Development

of a economy as suggested by
Dudley Seers ?

(1) Effect on Poverty

(2) Effect on Unemployment
(3) Effect on Inequality

(4) All of the above

What, Government is doing
through the disinvestment in
Public Sector Units ?

(1) Globalisation

(2) Reducing fiscal deficits
(3) Liberlisation

(4) None of the above
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Which among the following risk
is borne by the Public Sector
Partner ?

(1) Financing risk

(2) Termination risk

(3) Construction risk

(4) Operational maintenance risk

Write concept of Privatisation :
(1) Private ownership in PSU
(2) Private purchase of PSU

3) Private management in PSU

(4) Private ownership, management
and control in PSU.

When was privatisati6n of PSUs
started in India ?

(1) 1990-91
(2) 1991-92
(3) 1992-93
(4) 1993-94

Globalisation is the modern
version of the following theory :
(1) Comparative costs advantage.
(2) Protectionasims.

(3) Export led Development.

(4) Import Substitution
Development.
When Government of India

replaced Planning Commission
by NITI Aayog ?

(1) 1st January, 2015
(2) 1¢t February, 2015
(38) 1st March, 2015
(4) 1st April, 2015
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What is the full form of NITI

Aayog ?

(1) National Institution for
Translating India.

(2) National Institution for
Transfer India.

(3) National Institution for
Transforming India.

(4) National Institution for

Technology India.

What is the meaning of Rural

Development ?

(1) Entire development of Rural
Areas

(2) Infrastructural development

(3) Agricultural development

(4) Agro-industries development

Where is the National Rural
Development Institute in India ?

(1) New Delhi
(2) Chandigarh
(3) Hyderabad
(4) Pune

‘Which institute is not related to

Rural Development ?
(1) DRDA

(2) Gram Panchayat
(3) Panchayat Samiti
(4) UIT.

In which form Co-operative
movement was started in India ?

(1) Government Policy
(2) People Movement
(8) Foreign Policy

(4) Political Movement
35
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In which year the First Co-
operative Act was implemented
in India ?
(1) 1902
(2) 1903
(3) 1904
(4) 1905

What is the name of the Apex co-
operative Credit body in India ?
(1) R.B.IL

(2) NABARD

(3) SBI

(4) IDBI

Which sector was severely

- affected by the demonetization of

2016 in India ?

(1) Cash based informal sector.
(2) Salary based informal sector.
(3) Organised sector.

(4) Government sector.

What was the total currency in
circulation in India on 28tk
October, 2016 7

(1) ¥ 15.18 lakh crores
(2) ¥ 18.19 lakh crores
(3) ¥ 18.95 lakh crores
(4) % 17.77 lakh crores

. According to Philip E. Taylor

Public Finance is concerned with
(1) Fiscal Sector

(2) Fiscal Policies-

(3) Fiscal Problems

_ (4) All of the above
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Which of the following is not
related to Revenue expenditure of
Central Government in India ?
(1) Central assistance for plans
of State - and Union
Territories.

Social Services

Economic Services
Grants to States and Union
Territories

(2)
(3
4

What are the similarities in
Public and Private Finances ?

(1) Monetized activities
(2) Rationality

(3) Limited resource
(4) All of the above.

Which is not covered under the
Public Finance ?

(1) Revenue

(2) Public Expenditure
(3) Public Debt

(4) Personal Income

Who enunciated firstly canons of
taxation ?

(1) Adam Smith

(2) H. Dalton

(3) "Phililp E. Taylor
(4) Saligman

Who propounded the “Canons of
equality” ?

(1) P.A. Samuelson

(2) Bernard P. Herber

(3) Adam Smith

(4) H. Dalton
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What is the characteristic of a

good tax system ?

(1) Inter-dependence with other
budget components.

(2) Attitude of tax payers.

(3) Rights of taxpayers.

(4) All of the above

What is the objective of Indian

Tax System ?

(1) Equitable distribution of tax
burden.

(2) Optimum allocation of
productive resources.

(3) More employment opportunities.

(4) All of the above

Which is the direct tax from the
following ?

(1) Entertainment tax

(2) Corporate taxes

(3) Excise Duty

(4) Service tax

Which is the indirect tax from the
following ?

(1) VAT

(2) Wealth tax

(3) Expenditure tax

(4) Gift tax

Which Constitutional Amendment
launched GST in India ?

(1) 100tk Amendment

(2) 1015t Amendment

(3) 1020d Amendment

(4) 1037 Amendment

Which “tax” is not subsumed in
GST at Central Government
Level ?

(1) Petroleum products

(2) Excise duties

(3) Service tax

(4) Customs duties
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54.
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Which “tax” is not subsumed in
GST at State Government Level ?
(1) VAT

(2) Stamp duties

(3) Entertainment tax

(4) Octroi tax

Fill in the blank :

Impact of a tax is its
the tax payers.

(1) first point of contact
(2) second point of contact
(3) third point of contact
(4) fourth point of contact

with

Fill in the blank :

Incidence of a tax on the _____
(1) Owned hand

(2) Other hand

(3) Family hand

(4) Business hand

Fill in the blank :

In Indian Tax System,
evasion is a legal

(1) Offence

(2) Aggressive
(3) Displeasure
(4) Annoyance

tax

Fill in the blank :

In Indian Tax System,
avoidingis _ .

(1) Illegal

(2) Offences

(3) Irregular

(4) Offer

tax
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59.

60.

61.

62.
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The principle of maximum social

advantage is the answer of

(1) What should be the size of
Government Budget ?

(2) What should be the size of
Government Revenue ?

(3) What should be the size of
Government Expenditure ?

(4) What should be the size of
Government Taxation ?

Who propounded the principal of
maximum social advantage ?

(1) J.B. Say

(2) Adam Smith

(3) H. Dalton

(4) Saligman

Which is the component of Public
Revenue ?

(1) Receipts of income and
expenditure.
(2) Receipt of property and

capital transactions.
(3). Receipt of commodities and

services.
(4) All of the above

Who propounded the “Law of
Increasing State Activities ?

(1) C. Lowell Harris
(2) Adolph Wagner
(3) F.S. Nitti

(4) Philip E. Taylor

Which is not the obligation of the
Government in Public Debt ?

(1) External debt
(2) Internal debt
(3) Floating debt
(4) Currency obligation



63. T TSI AT TH ST AT HL B ?

64.

65.

@) &

@)

(3) T Hm
(4) ftre Hfim ook

W |feam@ &1 B a1 Rt $
TEHER S b g F TR A AT 7
(1) AT 110

(2) =g 111

(8) I 112

(4) T\ 113

I |faam &1 9 91 J8e T
TR & ATMNS a9¢ F IR T FaaT & ?
(1) IF=% 201
(2) FT=T 202
(3) =T 203
(4) IT=VT 204

HRd @R & 2021-22 & &9 o
W 87 & fFa uv anafea fen
TR ?

(1) 2,23,844 HUS 79T

(2) 2,23,845 e TqAT

- (3) 2,23,846 HUS &I

(4) 2,23,847 HUS TG

G @R & a9 2021-22 # Hifye
At & fere feramn um arafea fem
TR ?

(1) 35,000 FUS TG

(2) 34,000 FHUT 9T

(3) 36,000 HUT THAT

(4) 37,000 HUS TqAT

S Sr— T —T—. e — | — T———— | —— o — Vi
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| 63.

64.

65.

66.

Is deficit Financing as a hidden
tax ?

(1) Yes

(2) No

(3) To some extent

(4) To much extent

Which Article of the Indian
Constitution State about the
Annual Budget of the Central
Government ?
(1) Article 110
(2) Article 111
(3) Article 112
(4) Article 113

Which Article of the Indian
Constitution States about the
annual budgets of the State
Government ?
(1) Article 201
(2) Article 202
(3) Article 203
(4) Article 204

How much money allotted for the
Health Sector in the Government
of India Budget of 2021-22 ?

(1) 2,23,844 Cr. rupees
(2) 2,23,845 Cr. rupees
(3) 2,23,846 Cr. rupees
(4) 2,283,847 Cr. rupees

How much money allotted for the
COVID-19 vaccinations in the
Government of India budget
2021-22 ?

(1) 35,000 Cr. rupees

(2) 34,000 Cr. rupees

(3) 36,000 Cr. rupees

(4) 37,000 Cr. rupees

35
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68.

69.

70.

71.

72.

Who said that, ‘Business cycle is a
purely Monetary Phenomenon’ ?

(1) Dr. Hayek
(2) Hawtrey
(3) Keynes
(4) Marshall

Hawtrey’s Theory of Trade Cycle
is of the nature of

(1) Purely monetary

(2) Monetary over-investment
(3) Real over-investment

(4) Under consumption

Who gave Innovation theory of
Business Cycles ?

(1) Pigou

(2) J.A. Hobson
(3) Schumpeter
(4) J. Tinbergen

“Money is what money does.”
Who said it ? :

(1) Crowther
(2) Robertson
(3) . Walker

(4) Paul Einzig -

Which country in the World was
made use of paper currency in the
9th century ?

(1) India

(2) China
(3) England
(4) France 5
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73.

74.

75.

76.

71.

Which is not a secondary function

of money ?

(1) Money is a standard of
deferred payments.

(2) Money is a measure of value.

(8) Money is a store of
purchasing power.

(4) Money is a means of
transferring purchasing power.

Who considered Money as barren ?
(1) J.S.Mill

(2) Adam Smith

(3) Marshall

(4) Pigou

Money, as a basis of price
mechanism is most effective in

(1) Capitalist economy
(2) Socialist economy
(3) Planned economy
(4) Mixed economy

What is the motive of holding
cash balances in the Keyne’s
theory of Demand for Money ?

(1) Transaction motive.
(2) Precautionary motive.
(3) Speculative motive.
(4) All of the above

When bond prices rise, the
speculative demand for money
would be

(1) Rise
(2) Fall
(3_) Remain stable

(4). Uncertain
35
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78.

79.

80.

81.

82.

Money supply means
(1)
2

Currency.

Cash balance held by the
Government and Banks.

Total stock of money in
circulation at any moment.

3)
4

Currency notes in circulation.

Liquidity approach to the concept
of money supply is presented by

(1) Friedman

(2 R.B.L

(3) Radcliff Commission
(4) Pigou

Which is the indicator of

monetary policy ?

(1) Monetary base or high power
money.

(2) Bank liabilities and assets.

(3) Short term interest rates.

(4) All of the above

Which is the instrument of
monetary policy ?

(1) Bank rate

(2) Cash Reserve ratio

(8) Statutory liquidity ratio
(4) All of the above

Which one of the following is not
a tool of selective credit control of
R.BI?

(1) Moral Suasion

(2) Open Market Operations
(3) Publicity

(4) Ration of Credit
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83.

84.

85.

86.

Monetary Policy is

(1) Opposed to fiscal policy.

(2) Complementary to
policy.

(3) More effective

4)

fiscal

during
economic depression.

Direct measure to control
effective demand.

What is Bank rate ?

(1) The interest rate charged by
banks on loans.

(2) Rediscount rate charged by
Central bank from other
Banks on their bills.

(3) Interest rate paid by banks
on deposits.

(4) Rate of interest on inter-bank
transactions.

Which of the following measures
results into Contraction of Credit ?

(1) Reduction in Bank Rate.

(2) Purchase of securities by the
Central Bank.

Reducing the cash reserve
ratio of the Banks.

Selective Credit Controls.

@3)

(4)

Which of the following measures
helps in the public borrowing
policy of the Government ?

(1) Bank rate policy.

(2) Open market operations.

(3) Variable cost reserve ratio.

(4) Selective credit controls.

35
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87.

88.

89.

90.

91.

Which of the following method of

credit control is more direct and

powerful ?

(1) Bank rate policy

(2) Open market operations

(8) Variable cash reserve ratio

(4) Fixation of margin
requirements

Who formulate monetary policy

in India ?

(1) Finance Minister,
Government of India.

(2) Commerce Minister,
Government of India.

(3) NITI Aayog

(4) Reserve Bank of India

What is the periodicity for review
of Indian monetary policy ?

(1) Annual

(2) Biannual

(3) Quarterly

(4) Fourth monthly

What is the objective of Indian

monetary policy ?

(1) To accelerate
growth.

(2) To curb inflationary spiral.

(8) Allocation of resources to
priority sectors.

(4) All of the above

economic

Which is the conflicting objective

of Indian monetary policy ?

(1) Economic growth and price
stabilization.

(2) Economic growth and full
employment.

(38) Price stabilization and

exchange stabilization.

)

All of the above
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| 92,

93.

94.

95.

Who said “Inflation is that state
of disequilibrium in which an
expansion of purchasing power
tends to cause or is the effect of
an increase of the price level” ?

(1) Pigou

(2) Paul Einzig

(3) Friedman

(4) Hawtrey

What is the main cause of
inflation ?

(1) Increase in demand

(2) Decrease in demand

(3) Stability in demand

(4) External demand

Which is the type of inflation ?
(1) Demand pull inflation

(2) Cost push inflation

(3) Credit inflation

(4) All of the above

Who said “Deflation is that state
of falling price which occurs at
that time when the output of
goods and services increases
more rapidly than the volume of
money income in the economy” ?
(1) Crowther

(2) Pigou

(3) Keynes

(4) Friedman

Which of the following is not a
constitutant of the organised
money market ?

(1) Reserve Bank of India
(2) Commercial Bank

(3) Co-operative Banks
(4) Indigenous Bankers
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98.

99.

100.

101.

Call money market is a market
for

(1) Collateral loan

(2) Rediscounting of bills

(8) Very short period loan

(4) Sale and purchase of bonds

What is multiplier ?

(1) Ratio between change
investment and change
income.

Ratio between change
investment and change
consumption.

Ratio between change
consumption and change
income.

(4) None of the above

@

@)

Who propounded the principle of
accelerator ?

(1) D.H. Robertson

(2) A.P. Lerner

(3) Albert Aftalion

(4) J.M. Keynes

The operation of multiplier is
adversely affected by

(1) Involuntary unemployment
(2) Industrial economy

(3) Imports

(4) Plastic supply of capital and
factor

What is the present status of

Rajasthan in the national

economy ?

(1) Undeveloped
(2) Underdeveloped
(3) Developing

(4) Developed
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| 102.

103.

104.

105.

. The

In which category Rajasthan
included by the Government of
India ?

(1) Special

(2) Non-special

(3) Extra-special

(4) Backwards

Growth rate of population in
Rajasthan is

(1) Increasing
(2) Decreasing
(3) Stable

(4) Exceeded

In which crop Rajasthan was a
leading producer in the country
in 2018-19 ?

(1) Pulses

(2) Mustard

(8) Sugarcane

(4) Peanut

Which is the problem in the
economic development of
Rajasthan ?

(1) Geographical
(2) Acute Shortage of water

(3) Dependence of Agriculture on
monsoon.

(4) All of the above

the
in

main problem in
Agricultural Development
Rajasthan is

(1) Lack of land reforms

(2) Lack of irrigation

(3) Lack of fertilizers

(4) Irregularly and uncertainty
of rains
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108.

109.

110.

Which factor should be
emphasized most in .the rapid
industrial development of
Rajasthan ?

(1) To promote the entry of

MNCs.

Road Development.

)
3

To increase power supply at
reasonable rates.

4

Subsidy in backward areas.

Which is the main problem in the
industrial development of
Rajasthan ?

(1) Lack of infrastructure
(2) Inspector Raj

(38) Lack of investment
(4) Lack of finance

In how many circuits Rajasthan
is divided from the tourism point
of view ?

1) 12

@ 11

3) 10 -

4) 15

Which tourist places are included
in “Golden Triangle’ ?

(1) Delhi, Jaisalmer and Bikaner
(2) Delhi, Agra and Jaipur
(3) Delhi, Alwar and Jaipur

- (4) Delhi, Bharatpur and Jaipur
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112.

113.

114.

115.

Why, tourism is important in the
economy of Rajasthan ?

(1) To earn foreign exchange.
(2) To generate employment.

(8) Conservation of culture and
heritage.

(4) All of the above

Where is Summer Festival

observed in Rajasthan ?
(1) Jaipur

(2) Jodhpur

(3) Mount Abu

(4) Pushkar

In Rajasthan’s Planning, which
sector has been allotted highest
outlay so far ? .

(1) Infrastructure

(2) Agriculture

(3) Industry

(4) Transport

In which document of the State
Government highlights of the
schematic outlay for the latest
annual plan are made ?

(1) Budget at glance

-(2) Budget study

(3) Budget speech
(4) Annual economic review

When was VAT introduced in
Rajasthan ?

(1) April 1, 2005
(2) April 1, 2008
(3) April 1, 2010
(4) April 1, 2006
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What is the name of plan
implemented to promote girls
education in the Rural Sector of
Rajasthan ?

(1) Gurumitra plan

(2) Shikshakarmi plan

(3) Saraswati plan

(4) Girls plan

Which programme is centrally
sponsored scheme ?

(1) Desert Development
Programme.

(2) Dang Area Development
Programme.

(8) Mewat Area Development
Programme.

(4) Magra Area Development
Programme.

Soil and moisture conservation,
irrigation development,
afforestation and employment
generation is related to

(1) DDP

(2) DPAP

(3) TADP

(4) ADP

Dang area development
programme was being launched

from

(1) 1995-96
(2) 1985-86
(3) 1993-94

(4) 1987-88

. Mewat

area development
programme covers districts :

1) 4

@ 1

3 2

(4) 3
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122,

123.

124.

_development

| 121. When guru Golvalkar Gramin

Janbhagidari Vikas Yojana was
initiated ?

(1) 30tk September, 2014

(2) 30tk September, 2015

(8) 30th September, 2016

(4) 30tk September, 2017

covered
area
in

How many districts
under the border
programme
Rajasthan ?

) 3
@) 4
®) 5
4 6

Which is the environmental
polluting industrial unit ?

(1) Pharmaceutical unit
(2) Textile unit
(3) Electric unit
(4) Cement unit

Who gives No Objection Certificate
of non-pollution to the industrial
units in Rajasthan ?

(1) R.P.C.B.

"~ (2) RICO

(3) Industries Deptt.
(4) RSEB

. When the Rajasthan Pollution

Control Board was established ?
(1) 5th February, 1976
(2) 6tk February, 1978
(3) 7tk February, 1975
(4) 82 February, 1977
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126.

127.

128.

129.

130.

35

T TSR o G0 Tt HH 8 ?
(1) ¥R Rig widt

(2) gETH forwd

(3) WATEE HeTAT.

(4) .8 seon

Taq faem +rmER-2030 fF 3§
fom ¢

(1) HYF TG WA

(2) IR GBI

() faad=s

(4) Iwig anffes 1w

Taq feem HEFE-2030 3 fhar @5a
g7

(1) 15

2) 16

(3 17

(4) 18

T TR A "aq faem agy afafy
FI AT DR ?

(1) T ERE

2) 3w afa

3) faaafa

(4) IS afeE

TS % g9 B %1 daq fwm
TEL GBI fhaT 3 ?

(1) 63.15

(2) 62.04

(3) 69.66

(4) 72.16
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126.

127.

128.

129.

130.

Who is the Environment Minister
in the Government of Rajasthan ?

(1) Bhanwar Singh Bhati
(2) Sukhram Bishnoi

(3) Lal Chand Kataria
(49) B.D. Kalla

Who initiate the Sustainable
Development Agenda-2030 ?

(1) U.N.O.

(2) LM.F.

(3) World Bank ,

(4) Internsational Economic Forum

How many goals in the
Sustainable Development
Agenda-2030 ?

1) 15

2) 16

(3 17

4 18

Who is the Chairman of the

sustainable Development Goals
Committee in the Government of
Rajasthan ?

(1) Chief Secretary

(2) Industries Secretary
(3) Finance Secretary
(4) Planning Secretary

What is the Sustainable
Development Goals index for
district Jhunjhunu in Rajasthan ?

(1) 63.15
(2) 62.04
(3) 69.66
(4) 72.16



131.

132.

133.

134.

135.

“Tgt % o 6 THid R FRT H A
T Ui Tefegaeen 1 foar fraa
R 2

(1) wen e

2) .. fi e

(3) I @

(4) .U, i

TATRY : AU B

(1) % zuref fagm

(2) 7 & It g T @ e goe
fosm

(3) @ famm™ W wen

(4) T o5 a0 e g ol e @
fr srfwma =1 ST SN, fea
S F fmFaTd ?

=¥ Irefame Ik wafy i @ am
foraa feam ¢ ‘

(1) MfEee

2) T fre

(3) TR T

(4) .\, HY

SafY Freferme Wy ! @

(1) wve fafy

(2) es fafy

(3) wifse favaw

(4) T favamur

Fe1 I ferhan St B 9/ -

(1) i ST R |

(2) dmim SRfar sftea fag W
g1 /

(3) Himra IuifraT, fwa Swnfar %
TR E |

(4) 3NFa SyAfiar Afraa 2 |
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131. Who

132.

133.

135.

N ¢)

considered Political
Economy as “An Enquiry into the
Nature and Causes of the Wealth
of Nations” ?

(1) Adam Smith

(2) J.S. Mill

(3) J.B. Say

(4) F.A. Walker

State whether Economics is
(1) Positive Science only.

(2) Neither a Positive nor
Normative Science.

(38) A Science but not an Art.

(4) A Science or an Art
depending on who uses
Economics and for what
purpose. :

Who coined the terms Micro
Economics and Macro Economics ?

(1) Maurice Dobb
(2) Ragnar Frisch
(8) Ragnar Nurkse
(4) JM. Keynes

1 134. Micro Economics uses

(1) Slicing method
(2) Lumping method
(3) Monetary analysis
(4) Income analysis

Total utility is maximum when
(1) Marginal utility is zero.
Marginal utility is at its
highest point.

(8) Marginal utility is equal to
average utility.

4)

Average utility is maximum.
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137.

138.

T @ SR Y a1 gH @
g e | 98 Fram R -

(1) =wm fram

(2) 3t @ wfower fram

(3) T i Infiar fem

(4) i foem

FdE ¥ IgEAar 9% favewor
wfcrafed feren mam o -

(1) 2fre el

(2) TH.91. Toae
(3) Uehe ARl
4) ﬁ.m.ﬁwaﬁtmiﬁ.@.iﬁq

afeem gl 3 wed i, win i a1 o
2

(1) g7
@) T

- (3) HUTHS

139.

140.

(4) =<

Sie g <l A" S g, 99 EHid T
3

(1) =TS

(2) FUTCHS

@) A=
@) =

T AR T T aEw fRE SR
TEAT SR ?

(1) THIEHR

(2) IR i

(3) IR
(4) ot ifT

I 136. The second glass of water gives

|
|
|
I
l
!
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137.

138.

139.

140.

lesser satisfaction to a thirsty

person. This is the law of

(1) Law of demand.

(2) Law of diminishing returns.

(3) Law of diminishing marginal
utility.

(4) Law of supply.

In Economics the indifference
curve analysis was evolved by

(1) David Ricardo

(2) F.Y. Edgeworth
(3) Alfred Marshall
(4) J.R. Hicks and R.G.D. Allen

In the case of an inferior goods,
the income elasticity of demand is
(1) Positive

(2) Zero

(3) Negative

(4) Infinite

When Elasticity of Demand is
high, marginal revenue is

(1) Positive
(2) Negative
(3) Zero
(4) Low

A single and uniform price is the
feature of which form of market
structure ?

(1) Monopoly

(2) Monopolistic competition
(8) Oligopoly |
(4) Perfect competition



141. T HHd W ST I91G EF1, T4 :

(1) 3I9H
(2) TSR
(3) reiewrea

(4) frow s

142. I THIUHR A HH a8 F qh @ :

(1) 35 3G HI AR TR HH |

(2) Iqifea fFd S T 9@ 3R
IGh! hq |

(8) I @ HHa IR I 9 I A
T |

(4) 3 HHa IR 9 T Tt T |

143. fadd s di faraara @ ?

(1) fosra ara R

(2) IRSEA ATTd

(3) fagmm ==

(4) T FH A B AIGH WA

144, 39 G Fras S TS HrSaars ?

145. :
(1) dwa 3, mmﬁ:ﬁ%

(1)qmwﬁ%sﬁﬁ$maﬁnﬂﬁaa
frfa |

(2) A % @hy 3N Frid & &y |

@) W @ R g @ H
JeqTEHT |

(4) T FHEEN % HNg AE 3R
ffa 1

AEd IATE IAfHad & 59

7

(2) dWia I, e e 9
Il g |

(8) Hiua Ied AR aﬂm I
T E | .

(4) HWTd IcdTe HIMHE 2 |

|
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|
|
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141.

142.

143.

144.

145.

Demand will have
influence on price in
(1) The short period
(2) The market period
(3) The long period

(4) The secular period

greater

The firm under pure monopoly

can fix

(1) The price and the demand for
its product.

(2) The price and output to be
sold.

(3) Either the price or the
quantity to be sold.

(4) Both the price and the

quantity to be sold.

Which of the following is selling
cost ?

(1) Expenditure on selling cost
(2) Transportation cost

(3) Advertisement expenditure
(4) Wages paid to the workers

Production function refer to the

relationship between

(1) Physical inputs and physical
output of a firm.

(2) Stock of inputs and stock of
output.

(8) Productivity of one input and

another input.

(4) Existing inputs and output

over a period of time.

Average product is maximum
when

(1) MP is lower than AP.

(2) MP excess the AP.

(3) MP equal to AP.

(4) MP becomes negative.
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Y 1 whiee srgumen geffa @
(1) 9T |
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(4) Hiuia Scareshar fagr

146.

147.

148.

149.

The concept of Returns to Scale
refers to

(1) Short term

(2) Long term

(3) Proportionate change
(4) Fixed factors

Under the law of variable
proportions, the firm would like
to operate in the following stage
(1) I- Stage "

(2) II - Stage

(3) III - Stage

(4) All of the above

The concept of marginal cost is
closely related to the following :

(1) Variable cost

(2) Fixed cost

(3) - Opportunity cost
(4) Economic cost

Rent is paid because land has

(1) Perfectly elastic supply

" (2) Perfectly inelastic supply

150.

(3) Elastic supply
(4) Highly elastic supply

Which of the theory of wages is
associated with the name of
American economist, Walker ?

(1) Subsistence theory

(2) Wage fund theory

(3) Residual claimant theory

(4) Marginal productivity theory
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